....................................................................... cudldlg pawll ol &b aiw  pglunl

202472023 :awwlpd) diwl (aadsl) ulaslll spguy Jbgpine 1 udell : dwpm

Tpaad) adl tmie *1‘[-:*?1—;31 it O Joadll HL ==
el 3(02) 0N

18 x 10 =......... 41 x 3 = crviennnnn 42 - 19 = .....u.. 128 + 203 = ..... .

------------------------------------------------------------------------------------

el it e 1(02) I

[
T == z3 ...l_,...udi_:.u.r.j .............. b Al I
LY i
1 |2 |3 4

Sla i iy JuSTE Ll 2(01.5) il (o0
b 4

x X :'f x _
Q LJ L_ | J X4 =% tuta = ..

Lo ladl rJ...Jl ki (02 5)1.;:-(..»:'}*1 1:,.;...:_,"
;‘% uh.uﬁdlﬁ}uliyﬂ_"uﬁhlﬁf’rtﬂ'l .
j_,_?__;, i ¢ NI 45,280 gl i 3% ;_..;-1

4 e Y Jadl s:_thja:jl




